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If D, E and F are mid-points of sides, then what fraction of total area is shaded?




Area on base division (3TYR faHTSH W &% ):




Find the area of asked region, based on given ratio of sides and area:




I.In AABC,AD is the median

A and G is a point on AD such
that AG:GD = 2: 1, then ar

(A BDG): ar (AABC) is equal

to:
AABC #, AD AMegaT § 3R
GAD W Fegw fag & &
) AG:GD=2:1 §& ar
\ B D c_ (bBDG) T AT : (AABC)
T 8AGd [Fad aUET 82
a)1:4 B)1:9
//1:6 d)1:3

—& ©
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2. From a triangle ABC with sides of
lengths 40 ft, 25 ft and 35 ft, a
triangular portion GBC is cut off
where G is the centroid of ABC.
The area, in sq.ft of the remaining
portion of triangle ABC is
AT 40 ft, 25 ft 3T 35 ft
I T s ABC & ¥ =
Frsger GBC™ #T&T ol &, G,
ABC #1 ¥oo& §| a9 a9 Red
FT TG (T BT A) AT

500

a) 2253 =
2 275 250
=97 V=
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7.Ina AABC, F and E are the mid point
of AB and AC respectively, G is the
centroid of AABC. If P, Q and R are
the mid points of EF, FG and GE
respectively. Find the ratio of area of
APQR to area of AABC.
frsger AABC &, F 3R E wAY
atat AB 3R Ac F Few g B
fdg G Fsrer AABC #1 Femah ¥
39X fdg P, Q AR R FAY spemat
EF, FG GE & #eg fag @ at
fsgst APQR 3R T3t AABC &

&Thell HT AT Il FJ|
1 b) L

a) 24 36
L L

) 32 48
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U.Side of square ABCD is of 6 units. E
and F is are mid points of side AB
and AD respectively. G is point of
intersection of line DE and BF then

find the area of quadrilateral BGDC.
g ABCD #T $[a &I IF<TE 6

sH€ 8| E 3R F waer: 9 AB
3R 4D ¥ #7ew g § ¢ @ DE
ik BF & ﬁg%a’r
IJHS BGDC FT &% 13T,
a)18 24

c) 27 /?)/21




5 ABCD is a square of side 12 cm.

Point P and Q are the mid point
of side DC and BC respectively.
Find the area of the shaded
region OQP.

ABCD 12 J#Y [T T a9 g
fig P 3R @ maAw: DC 3ﬁT
BC & wey g 3| owifea

AT OQP FT TP HITAT?
a)12 b) 9

c)8 A6
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6. In AABC, P is a point on BC such

thatBP: PC=2: 3 and Qis the
midpoint of BP. Then ar(AABQ) :
ar(ABC) is equal to:

AABC # BC W P & fawg ¥
@ BP : PC = 2: 33 Q fawy,
BP F #eT fawg 8] ar ar(ABQ) :
ar(AABC) sRTEY §:

/(1:5 b)2: 5

c)2: 3 d1i: 4

SSC CGL, 12 Jun 2019 S1 11



7. In AABC, P is a point on BC such
A that BP : PC = 3 : 4and Q is the
midpoint of BP. Then ar(AABQ) :

% ar(AABC) is equal to: N
AABC ®#BC W, P 98 g
Wzé BP:PC=3:4311TQﬁ1§§BP$r
Ix2 v ey faeq 8 A ar( AABQ):

ar(AABC) SR &:
a)l1: 4 b)2: 7
o A3 14 d)3: 8
B'° > C
3

SSCCGL 12 Jun 2019 S2 12



8.In the equilateral triangle ABC,
AD = DE = BE, D and E lies on
the AB. If each side of the triangle
be 6cm then the area of the
shaded region is:
HqASTg B8t ABC, AD = DE =
BEE SR b 3 E YaT AB W ¥

, 2 AB= 6 cm dl BHIfhd $WET &1
2 x2y3E STFT ?
%4-\} a) 9 cm? %6\/§cm2

c)5V3 cm? d) None of these




. In AABC, D is a point on BC

such that BD:DC =
7:9and P is a point on AD
such that AP:PD =5:9 .
Then ar(ABPD) : ar(AABC)
is equal to:

AABC ® BC W, D 9% fa=g &
9@ BD:DC =79 3Rk P
Wi AD W UF g & amsh
AP:PD =5:9. @ ar(ABPD):
ar(AABC) SR &:

a)9: 16 b)16: 9

/9:32 d)32: 9
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19.In aAABC, D and E are two
points on sides AB and BC
respectively such that
AD:DB = 2:3 and DE || AC. If
the area of AADE is equal to
18 cm? then what is the area
(in cm?) of AABC?
DABC #, D 3 E ®#Mw: AB
I B WA g T S
AD:DB = 2: 3 3R DE || AC |
Ifd AADE #1 &9%d 18

a’ ¥ ar AABC FT &%

T 872 /{
a) 30 75
c) 54 d) 45

| CHSL 2018 | 16



1. In the given figure, in AABC,
DE is parallel to BC and
DE _8 <« 15DE =8BC. If the area of
e |5 AADE = 64cm? then find the
area of ACED.
& o amefa A, a4BC #
DE 11 BC & ®AR § 3R
B> c 15DE=8BC % I AADE
&1 &9%d 64cm?> T ar
ACED &T &T%e ddTSU|
a) 120 /156
c) 49 d) 72

7



2. Ina AABC, P, Q and R are three points

A on side BC, such that BP = 3x, QR =
2x, PQ =4x and RC=5x. If G is

centroid then, find the ratio of area of

APGR to area of AABC. ’
et s AABC A i Tag P, Q

- 3 R T BC W FH TFR o %
2>y~ BP = 3x, QR = 2x, PQ = 4x
v, RC =5x%| 3R G SHFT Fogd &

o FXe7st APGR U9 AABC & 8TFd

y HT 9Td 9T HU
63 Plig 22 @ 5+ a)1:3 b)|1:6
1:7 d)2:13
S Yy > A

D —



13. PQR is a triangle, whose area is

P 180cm?. S is a point on side QR,

such that PS is the angle bisector

* of ~QPR. If PQ: PR = 2:3,

then what is the area (in cm?)
i)dg - log triangle PSR?

= PQR wF e @, fowe

& %er 180cm? & S, ST QR

W v g 3@ vwR & &

Q S R PS,£QPR W FT ZRAHSH g
R - 3 ¥ PQ: PR=23 & a
fass PSR &1 &a%er (cm? #)
4T 72
a) 90 108
c) 144 472

| | 19



M. In a triangle ABC, AB = 4cm ,AC =
12 cm, if the area of triangle ABD =
40 cm?. Find the area of triangle ABC if
AD is angle bisector.

B85t ABC ® AB=4cm AC =
12cm & 9w BT ABD =
40 cm? @| 3R AD aﬁvmzﬁm
g’fa’fﬁﬁABcaﬂmﬁWaﬂ’fl
a) 80 b) 120

/g{ 160 d) 100
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5.In the right angle AABC. BD

divides the triangle ABC into
two triangles of equal

!eg’?o 161% perimeters. Find the area of
AABD, given that AC = 100,

v BC = 80 and 2B = 90°.
Ve Sy fet Bsyer AABC #, BD e[t
@ ABC # 2l WA IR&ATH ard
faeat & arear 8 AABD #

r{e] C  &F%d 9dT & 3PN AC =
100, BC=80 3R 2B =90°
]
a) 2400 ﬂ1440
c) 960 d) 1200

| | 21



16 .In the below figure, ABCD is a

D C parallelogram. If area of
AOAB = 19 cm? then, find
the area of AOBC.

ﬁmmﬁABcnw
AT  aqis & 3¢R




@ (e Yt [7.In a triangle ABC, the internal
A bisector of the angle A meets

BC at D. If AB=4, AC =

3 and zZA = 60° then the

,;;(4. %x‘},né'o:_é:% AD-%in3% 2030\ 2, length of AD is .

b LB AD Gind Tt T ABC #, FT 4
= 70| ® F1 JagiasTs® BC ¥ Rig D
W fAear § | afc aB =14,
& D ¢ AC =3 3R 24 =60°, @t

@ ABD Yy : 2 AD Y aFarS AT FA |

] a) 23 1243

) {X)'A‘ AD x Sindp S —= 8 7

M T\
£33 xSn6o Z

_ | CAT 2002 | 23




— AR I%. Let ABC be a right-angled triangle
ah B0+ A ACD = 2k 8 with BC = 5 cm and AC =

12 cm. Let D be a point on the
AV hypotenuse AB such that
5 £BCD = 30°. What is the
%9 length of CD?

\ 69 ABC UF WHHWT e §
-:;(5()3 C I A s BC = 5 cm 3R AC =
¥2x U - Gng < 12 =g D =T AB T

%’z"w Sn6p= %L)H’LXS Q%m%%il% ZBCD = 30° @] scg

= T J9S FAT 872
) CD(§+I2J§ = 60 60 17

L > a)—cm b);cm

d) 120 om
5+12V3

=) G\ Sox 2 5+12yZ

| CDS 201611 | 24
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